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 DEDUCTIO
., ., .,

.

- , 

 Deductio [1]

,  “ -
”  – . 

: T1.|-
(a + b) + c = a + (b + c) , (6); T2. |- a + b = b + a, (4);
T3. |- a + o = a, (1) ; T4. |- a+ (- a) = o, (1); T5. |- (-
a) + a = o, (3); T6. |- o + a = a, (4); T7. |- a + x = a

x = o, (26); T8 |- x + a = a x = o, (3); -
. , , T2. |- a + b = b + a , (4) -

 ( -
), -

 10- , 
 4  

 6- ,
 |-  ,  

. 
, 

: T1’. |- (ab)c = a(bc),
T2’. |- ab = ba, T3’. |- a 1 = a, T4’. |- a a – 1 = 1, T5’.
|- a -1 a = 1, T6’.|- 1 a = a, T7’. |- a x = a x = 1,
T8’. |- x a = a x = 1 .  T4’
(T5’ )  a 
o a a -1 = 1 
a (b +c) = ab + ac, -

,  
 [2] D(a+b)

= Da + Db, Dab = a Db + b Da, 
DF , -

-
. 

, -
, -

 [2]  Dx  =  Dy/y,  -
, 
, -

-
, 

 ({ sh x , ch x }, D). -
 [2].
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